EARAROBEEIERT — 2 N— IBISH —F

2012FE5R 168 (k) 4@&E&HE2H

MG ASTa5 S — X8 C13 ¥5%—M (el | mEmm - |y @) o0 E
[AE4£] 1% :130,000 M  23%&:24,000”  33%&:9,000H ~ 4#%:6,000H” / 5&:0H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. BRER— : -1-1- — HE=EH (BEHE)
1155 EYHFI1-2 o4 54.0 1'(3_0)'7 L 2 3_417) HMEEZ
RZAZXHw R BT7AXAT1— T2 RE
4t 6 | FHERREA 1:31.0 7-6-6-4 |38.7| — 5 475 | BHZ (BEHE)
2ff 3| ER3IFa—t 54.0 (1'1/2) 7y | R ()
L:LaTyp—9Ly B:aA98—TL—Ib EE—
N REE_ : 55— — BHEE (BHE)
3 NS PESY i o4 =5 1(73::; 5-5-5-5 | 39.3 3 (433) iﬁﬁg
OV B4/ +RH— E=l 7]
— FEHEE . 43 - WPAHIB (25 2)
4lglio] 71725+ o4 ;_0 1.(321).5 4-4-3-2 | 39.8 1 (5_229) sl
KTy k-9 BixYI/Thy—I BOBRKS
N . . FHPIsE :31. —2-2~ . — HEEE (BEHE)
sMole—E—7x-1 G I B R 6 fﬁ; I
L8y TELZAVF— BUAIZANTI =2 =i BB
S . = BREFF :32. -8-8~ . - HBR (BHE)
6lzl7|vamIanarss # 5 Ll 1(332)5 9-8-8-6 | 39.9 7 (4_539) i e
R:2&—)>JA-X B:LT1—914>7 BN
. — DAEFIGE : -9-9- - REEE (BHE)
717l g| x> anys 41 Ines (11312/27> 10-9-9-8 | 39.4 10 <4+319) /J\%%’a
R —=2d BiA-LELI—X =igikis
= i 4 5 | ARER 1:32.7 6-7-7-9 | 40.0| — 9 447 | 1EMRRIE (BHE)
sl 4| I TNTYTY 54.0 (747%) 1) ) Jr-x hEvas
R:HYo5TLIF b BiTRITT)— b N E%%%
o NUEFT :34. 04~ . — IAR= (ZHE)
ol1l1|7or—7 it 8 el 1(364)6 2-2-4-7 | 43.0 4 (4_489) s
LB/ INY R B:XT) T ovnr E=e ]
p— £ 4 | RARMAER 1:34.7 8-10-10-10 | 41.1 | — 8 514 | ABIET (BEHE)
10[8|9 | NYFRAERT 1 — “ 4 50 (76 G | B Fr-xbEva>
R:TI1T145—FT1>9 B X—nN—-1)&-—> BERS
® 1—F—@EBIERL
1T=7r= 5,1,6,10,2,4,3,9,7,8
2a=5"= 5,(1,6),10,2,3,4,7,8,9
30—4— 5,6,10,1,2,3,4,7,8,9
43—+ — 5,(6,10),3,2,7,1,8,4,9
[ /N
B 5 6509 7 3 3-5 3,430 3EE 2-3-5 3,390
B B 5 1204 e B 5-3 4,230 EH G2 19,620
3 330H B & 3-5 2,920
2 160M | | 5 B 5-3 4,170

ABICOVWTRDTEEERROODE. TR LIV,




